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V62 + 82 = V100 = 10
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0°<x<90° 4o, Bs F &2 227

® -1<cosx<0 (@>0§sinx§1
@ 0<tanx<1 @ -2<sinx<-1

® -1<cosx<0

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx >0




3. sinA:cosA=4:599 0, tanA 9] ZF2 F+5}oi=t
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SinA :cosA=4:5
sinA 4

4cosA = 5sinA ;. tanA = =
cosA
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tan60° = —, y = =
o y Y tan60° 3
sin60° = —
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CE=2v3
EG =22
CG=20]22

sin x + cos x =

2v2 _ 3+ 6
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Aol = A A(-2, 7),B(5, 12)
|F=dqze] 2718y S &
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A7+ 47tY ABC oA AB = 8cm
BC = 4V3cm € o, /B ] 27]=9

D 15° 2)30° ® 45°
@ 60° ® 75°




8. Tz 139 aABC oA A0 o 5 Hil g O] = 3

T sin = cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724

vV V¥

D 13.642

a= 20X cos47° = 13.642




(sin 0° 4 3 cos 0°) X (cos 90° — 2s5in 90°) 2] Ft-= A , tan 45° X cos 0° +
sin90° o gt= B =t & Wi, A + B 9] gk27

@3 -1 oo @ 1 ® 3

A=(0+3x1)x(0-2x1)=3x(-2)=-6,B=1x1+1=2
ojlmg
A+B=(-6)+2=-3




10, the 295 o] x He] -2 0] x %] /A
o] Wapat ols 7ol 60° 9 4% /
DR o QAo AL Fotol
o
60° _
/—2 o =z
> =
> HED y= V3x+2V3

tan60° = V3 O]|BZ2 y = V3x+ b o (-2, 0) = YA
0=-2V3+0b L b=23
w2bA] Fots AAFgo] ALy = V3x + 23 ot




11. o3 23} o] §1x]59] Zol7h 1 & AR lA] cos 35°+tan 35°+
sin 55° o] #F27?
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[@) B C T

0.82 1

D 1.40 @ 1.96 ® 2.09 @2.34 ® 2.46

cos 35° 4 tan 35° + sin 55° = 0.82 4+ 0.70 4- 0.82 = 2.34




12. thS I39] AABC oA AHZHH] 9] 2 BT AABC o] Ed)9] dolE

“FobHA?
10
1/ 340
A

Ze sin cos tan

54° | 0.8090 0.5878 1.8764

55° 0.8192 0.5736 1.4281

56° | 0.8290 0.5592 1.4826
@ 5.592 @ 8.29 3 13.882
@®)23.882 ® 29.107

AB = 10 x sin 56° = 10 x 0.829 = 8.29

BC = 10 x cos 56° = 10 x 0.5592 = 5.592

wtatA AABC o] Ed9] Zo]= 10 + 8.29 + 5.592 = 23.882
o|ch.




13. o3 I™elA oABCD & FAFdolx, /EAD = 60° o]t} At
2 ol7t 12em? A W, A 9] o ®io] AolE Fstofet
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> HEH: 8v3cm

B

(EDA = 30°
AD = DC — x 2} 314

ED — ADx cos30° = “0x (4425 3:22] qel)

AE = AD X cos60° = %x

1
p x %gﬁ x sin(120°) = 72
2

' = 72 . x=8V3(cm)




